27. Second Aorists

Lesson in a Nutshell

Rather than using oo to show that they are aorists, second aorists undergo
a stem change. This is not unlike how in English the past tense of “go” is
“‘went.”

Rather than using oo to show that they are aorists, second aorists undergo a stem
change.

If you understand the previous sentence, you understand second aorists. That’s all
there is to them.

It is easiest to show what a second aorist is by beginning with English.
In English, we have a regular way to put things in past tense — we add ed.
So, for example:

Today I clean.
Yesterday | cleaned.

Today | play.
Yesterday | played.

But there is another way that English verbs move into past time. They undergo a stem
change. For example:

Today | teach.
Yesterday | taught.

Today | go.
Yesterday | went.

Today | run.
Yesterday | ran.

Little kids often say something like this:

Yesterday | goed swimming with my mom. We correct them and say, “Yesterday you
went swimming with your mom.”
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But actually, the kid is applying a logical rule to “go” to make it into “goed.” The problem
is not with the kid’s logic. The problem is with English!

In Greek, second aorists are exactly like this. We have already seen one thing Greek
verbs do to show they move into past time — they add an augment to the front of the

verb.

But how do Greek verbs normally indicate they are in the aorist tense?

For example:

They add oa.

AMw | loose
floa | loosed

Prentw | see
EPAeal | saw

Second aorists do not follow the rules.
They do not add oa.

They undergo a stem change.
Just like in English!

AauPavw: | take
e\afov: | took

paAAw: | throw
€Balov: | threw

Sometimes these changes are very obvious (as in Adupavw/éAapov.) Other times there
is only the difference of a single letter (as in faAAw/EBaAov.)

Which set of endings would you expect the second aorists to use, primary or

secondary?

Secondary, of course.
We are in past time.

' Notice that the o is “hidden” in the . éBAenoa became €BAea. See the square of stops.
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Without the oa, the endings look much more normal to us. In fact, the second aorists
look exactly like imperfects with one important difference:

the stem change

| put that in big, bold blue since it is so important to remember. Second aorists are
simply verbs that show you they have moved to the aorist tense by changing their stem

rather than adding a oa.

augment, present tense stem
secondary endings

Active Middle/Passive

loosing”  P: ‘Il was being loosed”

EAvOV EAVOUNYV
EAVEC EAVOV
EAVEV EAVETO
EAVOUEV EAvOopedo
EAVETE EAVECOE
\\’éxoov EAVOVTO

4 Imperfect )

“I was M: “l was loosing for self”

Personal Endings / 2nd Aori st
augment, stem change

secondary endings
Active Middle
“I took” “I took for self”
EAoBov § eAaopnny
= EdaBov
éhaev S éMapeto
edaBopev & EAaBopefo
ENGBete <~ EAGBecBe
\’éxaBov eAaBovo

eAaBov

J

Look at how Aaufdavw shows it is an aorist. No oa. Just the stem change.

Compare the second aorist of Aapfdavw with the imperfect of Abw. Do you see how

similar they are?

Here is the second aorist on the Master Chart.

Imperfect

secondary endings primary en

Mood

Evov EAVOPNY « Mo
EAveg eAdov Aerg
EAvev £AdETO Ader
erdopev EAvOpeda Adopev
E\dete eAdece AMete
EAvov eAdovio Aovory

ive

icat

Li
ALVP, noo, O bef

"" Ind

Active Middle Active

“I will stay”  “I will stay for seif” “I will loose” “I
pEVD pevoduon M:rom
peVELg pevi AMoeg
HEVEL peveiton Avoer
pevodpev  pevoipebo Moopev
peveite peveiofe Moete

6. Aorist Passive pevodolv  pevodvrot Adoovorv

3

>
&

=%

resent
augment, present tense stem Present tense stem (lexical form)
i dings
Active Middle/Passive Active Mid/Pass
‘I was M: “I was loosing for self” “l loose” M: “l am loosed for seit”
loosing”  P: "l was being loosed” P: “l am loosed”

Adopar
A
Mdetan
Avopedo
Meobe
Movron

quid Future Future

fore

primary endings primary endings

Middle
will loose for seit"

Mdoopon
Mo
Moeton
Avoopebo
Moeobe
Moovia

Liquid Aorist 2nd Aorist Aorist
augment, l, BV,p, noC, augment, smmd_unge augment, OQL,
secondary endings secondary endings secondary endings

Active Middle Active  Middle Active
“I stayed”  “I stayed for ser’” 1 took 3  took for seir” “ loosed”
Epeva 3 EpeVounY Ehafov = ‘}WW‘W :rél\xm
Epewvag > Epeivo EhoPec \g_ eAaBou EAvoag
Epewvev = Epeivato EhaBev S EMdBero EAvoev

Middle
“I loosed for seif”|
EAvoauny
EMdow
eMdoato
P

s s A EraBo1E0: A
Epeivopey  Epetvopedo M"WVU A AD
Epetvote Epetvaote EAdBere = eAdBeobe EMdoate
Epetvay Epetvavo Erofov EAéBovio EAvoay

EMdoacte
EMdoavto

Perf Act 2nd Perf Act

rec
primary act end primary active endings

Personal Endings

Active

“I have loosed" “I have become”
AeAvko yeyova
AeAvKag Yyeyovag
AéAvkev Yeyovev
aad 5

VKO N YeyovajLe
Aedvkote yeyovate
AeAvxaoty yeyovaotv

Perfect Middle/Passive
reduplication, no K, no connecting vowel
primary m/p endings
Mid/Pass

Aedvpon

AedvoaL

Aehvrton
P:“lhavebeen  MeMduebo

loosed” Aedvobe
AedvvTaL

M: “I have
loosed
for self”

Aor Pass | 2nd Aor Pass Future Pass |{' 2nd Fut Pass
augment, augment, | éng . ne .
secondary act end secondary actend primary m/p endings primary m/p endings
Passive , Passive Passive Passive
“I was loosed” 1was i “I will be loosed" “I will be loosed”

eAveny Eypagny AMvbroopet oo TOA 000
E\dbng f"'YP‘f""g Avbnon anootaA o
EA8n ~ £ypadn Avonoetan AmOoTaAOETOL
EAGOn EYpo: Avbnoopedo
f:l\»uen‘zs Eypadne Avinoecte
Evpd: Avbrcovian

anoctadoopedo
anoctadioecte
AmOoTaATCOVTOL

AMOGTEAA®
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Please notice that there are three types of aorists: Regular, liquid and second.
This has nothing to do with the meaning!

These are just different forms that aorists use to say, “Hey! I'm an aorist!”

One more time: What is a second aorist?

A verb that shows does not use oo to show you it is aorist.
Instead, it uses

a stem change!

That’s all there is to it.
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